
-1-

Glider Chair 
Assembly Instructions

Parts List
A. B. C. D.

E.

J. K. L. AA. BB.

F. G. I.

M6*42  8PCS M6*52  8PCS

1PC

1PC 1PC

2PCS

2PCS

2PCS 2PCS

M6*78  4PCS

20PCS 20PCS 20PCS



STEP1

STEP2

-2-

Connect 2PCS Steel Poles (E) to Stand Frame L&R (D) with M6*42 Screw (F),
Washer (K),Nut (J) and Nut Cover (L) by Allen Wrench (AA).

Connect 2PCS Poles (C) to Stand Frame L&R (D) with M6*52 
Screw (G),Washer (K),Nut (J) and Nut Cover (L) by Allen Wrench (AA).

STEP3 Connect Armrest L&R (B) to Pole (C) with M6*52 Screw (G),Washer (K),
Nut (J) and Nut Cover (L) by Allen Wrench (AA).

F

C

C

K J
L

G

K J
L

B

B

D

D

E

E

D.x2 E.x2

C.x2

F.x8 J.x8

K.x8 L.x8

G.x4 J.x4

K.x4 L.x4

B.x2

G.x4 J.x4

K.x4 L.x4

G

K
J

L



-3-

STEP4

Attention

If there's any parts missing,please feel free to contact us.We will offer a 
solution for you.
If there is any damage,please send clear photos about damaged part to 
us as attachment,we will check and offer you best solution soon.
We are concerned about each customer's experience,if there is any loss or 
damage,please contact us at any time,we will provide effective solutions.

1.

2.

3.

Insert the Chair Frame (A) to Armrest L&R (C) with M6*78 Screw (I),
Washer (K),Nut (J) and Nut Cover (L) by Allen Wrench (AA).

A
A.x1

I.x4 J.x4

K.x4 L.x4

I

K J
L

I

J
K

L




